Austin, Jina, Chelsy, Miranda

College Algebra Per. 1

Nov. 17, 2003

Our group decided to do the case study involving boats and jetskis.  In this study, Shop A performs basic assembly, and Shop B performs finishing operations.  It takes longer to build and complete a jetski than it does a boat.  A jetski brings in a profit of $250 and a boat brings in a profit of $400.  We decided that since boats take less time to complete and bring in more money, we made more boats than jetskis.  During the day shift in Shop A, there are three people on staff building jetskis.  In Shop B,  there are four people on staff building jetskis.  During the night shift in Shop A there are two people on staff building boats.  In Shop B, there are three people on staff building boats.  In one week we can build five boats and five jetskis.  Our overall profit is $3,250.

